Rz—HY P —ERE

1/2R=Y

3 ‘//\"Hzagﬁ:f . 6AE AN AUV X 20236 H4H (H)
i % BENVT4
=R EmESR OUT| IN GROSS | HDCP NET e
1 /Al AR 39 | 39 /8 110.0/68.0
2 EX &% 41 | 38 79 19.0 70.0
3 E =ET 46 | 42 88 118.0/70.0
4 S =R 44 | 43 87 [16.0/71.0
5 BHE BEF 41 | M 82 11.0/71.0
6 B E 45 | 44 89 (18.0/71.0
1 RHE BF— 41 | 39 80 18.072.0
8 BEX BZ 40 | 40 80 [ 8.0172.0
9 XB ‘XA 42 | 42 84 112.072.0
10 &/ E— 42 | 44 86 (14.0/72.0
11 X =E 40 | 44 84 112.072.0
12 &0 47 42 | 39 81 1 8.073.0
13 [t E—Ef 40 | 40 80 | 7.0 73.0
14 HR &H 39 | 40 19 16.0/73.0
15 #FE WA 44 | 46 90 [17.0/73.0
16 % XK— 40 | 46 86 13.0/73.0
17 XA  BBHR 43 | 36 19 1'5.01/74.0
18 &R H=EF 47 | 40 87 13.0/74.0
19 hfa Bk 39 | 33 12 1-2.0/74.0
20 JtiE m=ih 43 | 39 82 8.074.0
21 AR EF 43 | 41 84 110.074.0
22 = == 44 | 42 86 12.0/74.0
23 |JI|IH FE§H 38 | 41 19 1'5.01/74.0
24 fE IETF 49 | 41 90 [15.0/75.0
25 A H 47 | 45 92 117.0/75.0
26 FEHE %M 43 | 40 83 8.0/75.0
21 BFh TE 45 | 44 89 14.075.0
28 Bl # 46 | 45 91 116.0/75.0
29 ¥ BX 42 | M 83 8.0 75.0
30 Jdeji B 43 | 45 88 113.0/75.0
31 MEX EB 45 | 38 83 7.0 76.0
32 M RHE 45 | 40 85 19.0/76.0
33 | mE X 48 | 45 93 117.0/76.0
34 Bk = 46 | 46 92 116.0/76.0
35 dtiE = 43 | 45 88 112.0/76.0
36 fiE = 42 | 44 86 10.0/76.0
37 HH fEsh 44 | 4] 91 115.0/76.0
38 A F—ER 44 | 43 87 110.0/717.0
39 EBE A 45 | 44 89 12.0/71.0
40 b FE 47 | 48 95 118.0/717.0
41 R FEK 46 | 49 95 118.0/717.0
42 B —E 45 | 49 94 117.0/71.0
43 fhJll BH=FE 40 | 4] 87 110.0/717.0
4 BE EM o0 | 42 92 114.0/78.0
45 A TH o0 | 45 95 117.0/78.0
46 J\K Esh 45 | 40 8 | 7.01/78.0
47 WA =B 46 | 43 89 11.0/78.0
48 B H#F 47 | 45 92 114.0/78.0
49 EiE Z=EHB 40 | 40 80 2.0 78.0
50 WA R=F 45 | 4] 92 14.0/78.0




2/2R=2

Rz—HY P —ERE

3 ‘//\"Hzagﬁ:f . 6AE AN AUV X 20236 H4H (H)
i % BENVT4
=R EmESR OUT| IN GROSS | HDCP NET e
51 Jiid EE 49 | 48 97 118.0/79.0
92 =X Grlt 43 | 44 87 18.079.0
93 FIX IEX 52 | 46 98 118.0/80.0
4 [BH FX 49 | 44 93 113.0/80.0
55 7RE sk 47 | 42 89 9.0 80.0
56 KR ®2 49 | 45 94 114.0 80.0
b7l Ak 1EH 46 | 44 90 10.0/80.0
58 wH & 46 | 44 90 110.0/80.0
9 EH ®;| 43 | 43 86 6.0 80.0
60 O e 46 | 50 96 116.0/80.0
61 £ FE 47 | 44 91 110.0/81.0
62 BB FiE 47 | 4] 94 112.0 82.0
63 KE 1l 48 | 50 98 16.0/82.0
64 #IU FA 46 | 51 97 15.0/82.0
65 AX E{E 45 | 54 99 117.0/82.0
66 AT #Th 48 | 44 92 1 9.0 83.0
6/ ®BHFH FA 49 | 48 97 114.0/83.0
68 RA & 47 | 4] 94 111.0/83.0
69 EX HE 48 | 50 98 15.0/83.0
10 A& IEmd 44 | 4] 91 1 8.0 183.0
1 5l BR 47 | 51 98 15.0/83.0
12 /K B 49 | 45 94 110.0/84.0
13 KA #& 46 | 4] 93 9.0 84.0
14 /\ZFx B8 47 | 50 97 13.0/84.0
15 K RE o4 | 48 102 117.0/85.0
16 i & o6 | 43 99 113.0/86.0
11 BRK BEX 93 | 48 101 [15.0/86.0
18 M#F B 23 | 49 102 116.0/86.0
19 Ik KESHE o4 | 49 103 116.0/87.0
80 E=H EIFE o0 | 50 100 {13.0/87.0
81 #ER X& 49 | 51 100 {13.0/87.0
82 Il =FF o1 | 46 97 9.0 88.0
83 #E * o6 | 49 105 116.0/89.0
84 th#y S=EX 49 | 54 103 114.0/89.0
85 O F— 51 | 49 100 {10.0190.0




